APPB

Coffee Filter III

As we discovered with One Coffee Filter, as the filter falls, the y-Position vs. Time plot starts out quadratic but very soon becomes linear. This is due to the effect of the air resistance and the mass and surface area of the filter. In effect the force of gravity and the resistance force of the air cause the filter to reach its terminal velocity.  We would now like to explore this relationship a bit more as we learn about how things move under a constant force. 
1. Design an experiment that will determine the Terminal Velocity of falling Coffee Filters as the number of filters change until the filter hits the ground before the effect of air resistance comes into plan. That is, you have enough filters to neglect air resistance. Identify your variables and make a sketch of the set up for the experiment. Include an equipment list. Present this information for Mr. Young’s approval.
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Equipment List:


2. When you get approval, perform the experiment. Report the Velocity and the Acceleration for each set of filters. Include the measures you planned to collect and use graphs.

3. What is the minimum number of filters needed to overcome the effect of air resistance? How do you know?
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